KHTE #HEER

X =EMRTE.

SM6E04B27TH(LER) 13599
HENE - [ SH6E (£RER) %)

Bl

SM6£E04A27H (LFER)

FEYOBEOBEII—HEERT 270, AFtERFEAENOBERRIEI—HLBWEELH D,

Y AR iEPS] E=H Bk = BIHE
o 1,115 145,812 146,927 85 %
R=E 1,434 25,096 27 26,557 130 %
= 2,549 170,908 27 173,484 90 %
Bfy kg, M
. _ I N TSt
48 R g |RFEAHE HEAR TEm o7E Y s e
FHE|ZWIA 30,725 | W AR 110 |F% 10 | 1,512 972
I 10
B 10
GiERS] 30,615 [T 10 | 2,268 | 1,728 | 1,404
ZHH, 10 | 2,160 | 1,728 | 1,404
B 10
R 666 | X 666 | T 0.8
BE 0.8
&b 0.8
ICALCA 6,550 | BN 6,550 |75 10 | 3,996 | 3,240 | 3,024
FIE 10
ZHb 10 | 1,404 972
halF 3] 684 | #Ext 684 | &7 4
REA 0.2
B 4 1,080 540
“lFoz 341 (€Y AR 6 [REA 10
& 10
£ 10
iEpS] 335 |#E 10
&R 10
B 10 | 3,240 2,700
F Y 9,370 | 8% 9,370 [#z)1 10 | 1,620 1,080
A 10 | 3,456 | 3,240
£ 10
L& X 2,121 (€Y AAL 40 |23 10
RE 10
B 10
GEpS 2,081 |Zx 10
KB 10
£ 10
E<En 1,650 |& Y AAL 50 |2k 13
£ 15
GERS 1,600 |2k 13
£ 15




SH6404A27H (LER) 13K59%

HIFTHE - @&
KHMiE #HHEHER $6E04827H (LKER)
B{I kg, M
x| w4 HFEHE |RTHE HEARR — ﬂ%ﬁ% —
FEHR A e Hi| =fE B ZE
ZEOR 1,655 | &Y AAL 25 |24 0.2 32
BR 0.5
B 0.5
GizpS] 1,630 |k 0.2 76 54 32
BER 0.5
B 0.5
EI>NAZ S 4,125 € WAL 25 |24 0.2 54 49 43
5 0.2
B 0.25
GERS 4,100 2% 0.2 86 76 43
PSS 0.2 119
By 0.25
hE 3,231 | 8% 3,231 |F%E 5 3,024 756
BE 5 2,484 1,242
ZHb 5 1,944 | 1,620 | 1,350
EwolY 5,450 €W AAL 25 |35 5
i 5 1,944 1,836
By 5
GiERS] 5,425 |#E 5 2,376 | 2,160 | 2,052
BE 5 2,484 | 1,944 | 1,620
& 5 2,484 | 1,836 | 1,728
NERSRS 13,950 (&Y AL 500 |za-v-5>¥ 10 | 1512 | 1,296 | 1,080
e 10
By 10
GERS 13,450 |=2-v-3>¢ 10 | 1,944 | 1,404 | 1,296
pash 10
& 10
ANCH 5,160 | &Y AL 76 |=*0 0.4
& ] 4
By 0.4
iEpS] 5,084 [=%0 0.4
& 4
£ 0.4 227
b= b 4518 | Ex 4518 |REA 4 1,620 | 1,404 | 1,296
HAR 4 1,620 1,296
Kb 4 1,728 | 1,620
g el 678 | Xt 678 |REA 3 1,728 1,512
A 0.2 130 108
& 0.2
E—< 4,190 | BN 4,190 2% 0.15 108 49
= I 0.13




SH6404A27H (LER) 13K59%

HIFTHE - @&
KHMiE #HHEHER $6E04827H (LKER)
B{I kg, M
x| w4 HFEHE |RTHE HEARR — ﬁ%ﬁ% —
FEHR aniE Hi| =fE B ZE
By 0.15
ZLE®D 656 | A8xXF 656 (B2 4 4,320 | 2,160
IR 4
B 4 4,320 | 2,160
CxhWH 18,120 | #Bx¢ 18,120 |EIR 10 | 4,104 | 1,836 1,620
s 10
R 10 | 2916 | 1,944 | 1,836
TOoF0H 4,620 | W AR b |FE 5
I 5 648
By 5
iEpS] 4,615 [FIFE 5
ZHH, 5 1,836 | 1,620 | 1,080
B 5 1,188 972
7-¥h&E 7,530 | B 7,530 (dbiEiE 20 | 2,808 | 2,592 | 2,538
=1 20 | 3,888 | 2,052 | 1,836
By 20
HmELWELT 182 | #8x 182 |#H 0.1
=F 0.1 162 108
ZHb 0.1 248 108
Z DEF 20,755 [€ W AAL 253
GEpS 20,502
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SH6404A27H (LER) 13K59%

HIFTHE - @&
KHMiE #HHEHER $6E04827H (LKER)
B kg, M
x| w4 HFEHE |RTHE HEARR — Eﬂ?w% —
FEH aniE Hi| =fE B ZE
REER|HERDOHIA 650 [ Y A#L 180 [BEA 10
FiE 10
By 10
GERS] 470 [REAR 10 | 1,404 1,296
FIE 10
By 10
To &< 5,882 | #Exd 5,882 |F0ErL 10
IN= 10
By 10
A PR RS A 650 | 4Ext 650 |E1E 7.5
REAR 7.5
£ # 7.5
AFN 1,755 |2 Y AAL 890 |ReA 5 1,404 | 1,296 972
IR 5
B 5
izbS] 865 |AE 5 3,240 | 2,916 | 2,160
B 5
By 5
VAT 4,465 | 48X 4,465 | E7* S U 10 | 5,400 4,860 | 4,374
CES BN 10 | 6,480
Wb 3,516 |t Y AAL 31 A EbEE8H 026
I, EbEH e |0.26 216 194 162
By EbEBE8H 026
&6 HhFEH-H |0.27
(= Wb XA |0.24
GEdE fLIZ-~ (028
I FLIEF->~2 |0.26
B $TIT->~2 [o0.26
GERS 3,458 [#Ak EbEBE8H 026 162 140
I, EbEH e |0.26 356 151
By EbEBE8H 026
&6 HhFEHLH |027
EE WH T XA |0.24
] $I1EF->~2 |028 216
ZH fLIE->~2 |0.26 324 302 194
i $IEF->~2 |026 270 162 140
Y B 27 |HAR EbEB L8026
I b &8 |0.26
By EbEB L8026
&6 HhFEHL-H |027




SH6404A27H (LER) 13K59%

HIFTHE - @&
KHMiE #HHEHER $6E04827H (LKER)
Bifif : kg, M
I (I I EFeiig
k] w4 HFEHE |RTHE HEARR IEm Y AN s &
=8 WH T XA 024
F: $IF->~2 |0.28
/351 FLIEF>~2 |0.26
EH#h $IF->~2 |0.26
T—ILZAAOYV 461 | Bx 461 (B8l 1
= 9 8,640 | 7,560 [ 5,940
R 8 7,560 4,860
TYTAAQY 2,509 €W AAL 24 |RER 5
2RI 5
By 5
X 2,485 [REAN 5 2,700 1,944
ZHH, 5 4,320 | 4,104 | 3,780
B 5
ERSY:R 1,330 | #Ext 1,330 |REAR 15 | 5,940
B 15
ZiEET L, 320 | #8xd 320 |23k
g
By 8
ZDMRE 5,019 &Y AAL 309
GiEPS) 4,710
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